Run 4555 mpswise, accO: All
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Run 4555 mpswise, acc0: Beam ON, Laser ON
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Run 4555 mpswise, accQ: Beam OFF

Enlrie=: TE1569

Meari: 08649 +/- 0.0007

Sid Dev: 01905 - 0.0005
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Run 4555 mpswise, acc0: Beam ON, Laser OFF
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Enitries: 2011249

Mean: T 3695 +- 0010

Sid Drev: 04594 - 0.0007




Run 4555 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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Run 4555 mpswise, AccO/NAccO:mpsCoda, beam ON, laser ON
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Run 4555 mpswise, AccO/NAccO:mpsCoda, beam OFF
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Run 4555 mpswise, AccQ/NAccO:mpsCoda, beam ON, laser OFF
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